4/27/22, 9:40 AM Varsity Learning Assessment

Algebra 2 Test 2022 (Radicals Part 2) ~ PRACTICE TBsT #2_

Name: John Sid;avp’y_c»z

¢
— )
#1 Points possible: 1. Total attempts: o

Combine the following expressions.

3V2 +6v2 = q\rj

#2 Points possible: 1. Total attempts: 0

Combine the following expressions.

sd+svi—  |3V4

#3 Points possible: 1. Total attempts: 0

Combine the following expressions.

Tyv/3 — 8yV/3 + 8yv/3 = 7:/\@)

#4 Points possible: 3. Total attempts: 0 L f‘T ﬁ - b \BT, \.r‘?: + \f}—o v

Combine the following expressions.

4/IZ_ 6T +2/T8=  —\6J3

#5 Points possible: 3. Total attempts: 0
Combine the following expressions. (Assume any variables under an even root are nonnegative.)

Yy 22 S o2 = gt 302
;2 35 0\5 %a + bub vel
3v/a’b® + 5av/a?b® = QCAb \/ ck)*

3(\\(31 \’//c_\—* + Sa l)z \3, a?

#6 Points possible: 3. Total attempts: 0

Combine the following expressions. (Assume any variables under an even root are nonnegative.)
Z{X\qu “ v@ vl—)z— = 13—{\/“‘1 A \/,\‘(v X

N
/ 8 4 3 _ [ ) S .
4z, /24zy°® — 2y*\/24z° = L/)(\(j v b)( Byt or - ﬁ/ij’véx

#7 Points possible: 2. Total attempts: 0
Combine the following expressions.
3 n ~ gt pnd
w-su- A6 =Yg A = 97
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#8 Points possible: 2. Total attempts: 0
5 (a5 = [
Multiply: G =Ju1 2= W2

JE.vi- G0 702

#9 Points possible: 2. Total attempts: 0
Multiply:

(4v7) (5v89) = O N rlOivB - 14O

#10 Points possible: 2. Total attempts: 0

Multiply:

V(v + av3) = 10 Fq{q ={lo+ 8

#11 Points possible: 3. Total attempts: 0

Multiply:

(vVB+v3)(2v5-3v3) = 25 -3((5 YIS -3/ = \0-N5-9 = /-Vi5

#12 Points possible: 3. Total attempts: 0

Multiply (Assume all expressions appearing under a square root symbol represent nonnegative numbers):

(VF+3)(VE+2) = X rAx+3xtl = x+50 0

#13 Points possible: 3. Total attempts: 0
Multiply:

(Fo3)= (F-3)EF3) = 35-35 3%

#14 Points possible: 3. Total attempts: 0

Multiply (Assume all expressions appearing under a square root symbol represent nonnegative numbers):

(ﬁ+m(f—ﬂ)= ‘v&j'ﬁ)&“'m*ﬂ = X-2

#15 Points possible: 3. Total attempts: 0 J’Z (ﬁ 13 . \J’Z - qu!—l (U lJ/i
Rationalize the denominator-in the following: é({:;-%(ﬁ 29 3 ‘ \i“f\‘lﬁ ,.):3 4y 3 =&
Ve -2l
V2 )
P

BrvD =
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3 )7 e _ [ 47 W7 11 = 84207

& -ME+ Faps a5 6

#16 Points possible: 3. Total attempts: 0

Rationalize the denomiinator in the following:

vin_ (8

VT -1 =
#17 Points possible: 3. Total attempts: 0 (gt + (o Ixs 1 = 1b
Solve for zin v/3z + 1+ 2 = 6. J3n =4 - =8
- Yr=15
T = :) ?))( +1 = /(4) P
D |
#18 Points possible: 3. Total attempts: 0 4 = x1+ 6 =/ (~
| Joaxre =1 4
Solve for z in 2z + 6 = 2. ' p Ax =10
P Ax4b =2 '
r= 5 r=5
#19 Points possible: 4. Total attempts: 0 \'ij) - (’j 4= ’)) . ‘jl f";j L =62
, { . ‘ )
Solve foryin /y +3 =y + 3. &T"b _ Cj 73)(j773) C’S fi‘,l_\j fl} = C
B ,
= ’ 2 - )* A —— Gt =
y yrd = yrtegtT Y=-3 y=-2

#20 Points possible: 5. Total attempts: 0

The following equation will require that you square both sides twice before all the radicals are
eliminated. Solve the equation using the methods shown in the examples in the book.

Vi 2=z t6-2

p= >

Rl = (e N\(Ixte ’LB
WL T xtlo -afae -Mxre 4
-2 =10 - 4/xe

-1 = tw??Z-,

,ju' "”'L['
A - (X1 6
Q=xt+6
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